Chapter 14

Managing for Results

Questions for Review and Discussion 
  1.
The criteria that operational objectives should satisfy include the following:

· They should represent true ends rather than means. They should focus on results, not the way in which the results are achieved. They should not preclude alternative means of obtaining the same goal.

· Whenever feasible they should focus on outcomes (results received from a service), not outputs (units of result provided).

· They should be readily measurable, yet capture the desired outcome.

· They should be measurable within a sufficiently short time so that corrective actions can be taken.

· They must be reasonably precise, leaving little room for individual interpretation.

  2.
By establishing objectives an organization invariably indicates which of its activities are of primary, and which are of secondary, importance. It thereby may suggest that some departments or units are of greater value than others.

  3.
Program budgets allocate resources to specific programs, rather than to “objects,” such as salaries, travel, supplies, etc. Programs, by definition, are composed of activities that are directed toward a common goal. Thus, program budgets link expenditures directly to goals.

  4.
The key elements of a zero-base budget decision package include:

· a statement of the activity’s objectives;

· the consequences of not performing the activity;

· alternative means of accomplishing the same objective;

· expected inputs, outputs and outcomes at various levels of funding.

  5.
Expenditures often cannot be causally linked to outcomes. In reality, for example, more money for police cannot be tied directly to an outcome, such as reduced crime. It can, however, be associated with outputs, such as a greater number of officers on patrol.

  6.
All organizations should report on how well they achieve their objectives. The primary objective of businesses is to earn a profit, a goal that is reported upon in conventional financial statements. The primary purposes of governments and not-for-profits are to provide services, promote causes, or carry out specified activities for the benefit of their constituents. The extent to which the organizations achieve these objectives cannot be assessed with conventional financial measures. They require measures tied specifically to their objectives — i.e., measures of service efforts and accomplishments.

  7.
The three main categories of SEA indicators are:

· Measures of efforts — i.e., inputs

· Measures of accomplishment — i.e., outputs and outcomes

· Measures that relate efforts to accomplishment — i.e., efficiency measures (the ratio of inputs to outputs) and cost-outcome measures (the ratio of inputs to outcomes).

  8.
Limitations of SEA indicators and means by which they can be overcome include the following:

· The measures are derived from the objectives of the organization and hence are likely to have the same shortcomings (e.g., they may not capture the entity’s true goals). Organizations must be certain that they do not select indicators that are easy to measure, but do not represent true ends.

· The accomplishments of most programs cannot be captured by a single indicator. Therefore, multiple indicators must be provided.

· SEA data, by themselves, are seldom sufficient to enable comparisons between organizations or between periods. Hence they must be supplemented with explanations.

· SEA data, especially if presented in detailed tables, can result in “information overload.” It is often useful to present them in charts and graphs that highlight key statistics.

· SEA data can also be overaggregated so that they obscure important points and thereby provide little useful information. The level of detail must be appropriate to the users.

  9.
Capital outlays provide benefits over more than one period; therefore they should be paid for over more than one period — that is, financed with debt. If they are to be financed with debt, they should compete with, be compared with, and budgeted with only those other projects that will also be financed with debt.

10.
Human lives may be “priceless,” but projects intended to save them are not. Resources are limited and either implicitly or explicitly society must determine if the lives to be saved by a project are justified by its cost.


The most widely used basis for valuing human lives is the present value of future cash earnings. The limitation of this basis is that it recognizes only one dimension of humanity — earning power. It gives no recognition to other contributions that people make to each other — love, affection, comfort, humor, etc. Further it takes into account only the revenues that people earn, ignoring the costs of human existence, such as food, clothing and shelter.
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EX 14-2

Possible program categories might include:

· Traffic safety

· Criminal investigations

· Crime prevention

· Community relations

· Drug and vice control

· Administrative support

· Parking enforcement

· Highway patrol

EX 14-3

1.
Admissions office

Outputs: Number of applications processed; number of requests for information


Outcomes: Percentage of students requesting information that apply to the school; percentage of students accepted who matriculate; percentage of students accepted who are eventually graduated; quality of entering class as measured by SAT scores, grade point averages, etc.

2.
Sales tax division

Outputs: Number of returns processed; number of taxpayer requests for information; number of audits,


Outcomes: Number of returns processed without error; dollar amount of collections; taxes collected as a percentage of estimated sales subject to tax; number of taxpayer complaints; revenue yield per audit.

3.
Private scholarship foundation

Outputs: Number of scholarships granted; dollar amount of scholarships granted (these could be either outputs or outcomes); number of applications received;


Outcomes: Number of scholarships granted; dollar amount of scholarships granted (these could be either outputs or outcomes); number of students successfully completing college.

4.
Municipal housing authority

Outputs: Number of loans made; dollar amount of loans; number of applications processed.


Outcomes: Number of loans made; dollar amount of loans; number of borrowers who were denied credit elsewhere but were now able to buy homes; number of borrowers who owned their homes after five years.

5.
Parkinson Disease Information Service

Outputs: Number of brochures or information packets sent; number of radio and T.V. announcements aired; number of requests for information responded to; number of patients or families to whom information was sent


Outcomes: Public awareness of the disease as measured by surveys; contributions received (a measure of public awareness and support of the agency’s activities); number of subscribers to agency publications; number of requests for information from patients, doctors, news media, nursing homes, etc.

EX 14-4

1.
The total cost of operating the buses is:

30 buses @ $40,000
$1,200,000

Fixed costs

     350,000
        Total cost

$1,550,000

Average cost, based on 2,700 children, is $574.07.

2.
a.
The cost of an additional 300 children, based on average cost, would therefore be $172,221.

b.
To service an additional 300 children the district would have to add four buses, each at an incremental cost of $40,000 per year. Hence, the additional cost would only be $160,000.

3.

Inasmuch as the four additional buses could serve 360 children, there would be no cost in increasing the number of children by 360 instead of 300.

EX 14-5

1.
The present value of the first option, constructing the apartment building is $10,945,444:

Present value of $8,000,000 initial investment
$  8,000,000

Present value of $300,000 annual cash outflows 
(an annuity of $300,000 discounted for 
20 years @ 8 percent — $300,000 x 9.8181474)
    2,945,444
            Total present value
$10,945,444
The present value of the second option, providing direct assistance payments of $1,200,000 per year over the same 20 year period is $11,781,777:

Present value of $1,200,000 annual cash outflows 
(an annuity of $1,200,000 discounted for 
20 years @ 8 percent — 1,200,000 x 9.8181474)
$11,781,777
The first option has the lesser cost; based on the limited information it should be selected.

2.
The authority would want to consider the “sociological” advantages and disadvantages of building public apartment buildings. Recent history has made clear that the consequences of concentrating low income residents in a public apartment building will differ greatly from those of scattering them in private dwellings. Further, the authority would want to take into account potential indirect costs associated with each of the projects and the probability that its estimates of future costs are reliable. The time horizon is also important. If the program were needed for less than 20 years, the second option would become preferable.

EX 14-6

1.
The project would save the county $900,000 per year (100 inmates @ $9,000). The present value of the savings, an annuity of $900,000 for 10 years discounted at 8 percent, is $6,039,072 ($900,000 x 6.71008).

2.
Benefit-cost ratio 
=
Present value of annual benefits


Initial investment


=
$6,039,072
= 1.5



$4,000,000


The ratio is greater than one (i.e., the present value of the savings exceeds the initial investment). Ignoring all other factors, the project should be undertaken.  
Problems
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a.
Proposed Programs

1.
Safety inspections

Operational objectives
To inspect all structures within the department’s jurisdiction at least once every three years.

To inspect all places of public accommodations, such as theaters, restaurants, hotels and schools at least annually.

To assure that at least 95 percent of all buildings satisfy fire code requirements.

Inputs
Number of personnel

Total employee-hours worked

Total expenditures

Outputs
Number of inspections

Number of citations issued

Outcomes
Percentage of buildings in compliance with code

Percentage of buildings cited for violations that are brought into compliance as a result of the citations

2.
Education

Operational objectives
To communicate with at least 80 percent of the population each year through advertisements, presentations, brochures or comparable means.

To assure that 95 percent of elementary school children participate in a department-sponsored fire prevention program every two years.

Inputs
Number of personnel

Total employee-hours worked

Total expenditures

Outputs
Number of TV spot announcements

Number of brochures distributed

Number of presentations to civic groups; number of attendees

Number of presentations to school children; number of attendees

Outcomes
Percentage of fires that would have been avoidable had basic precautions (the practices emphasized in the education programs) been followed (lower the better)

Extent of citizen awareness of fire department messages (as measured by procedures used commercially to test the effectiveness of advertising campaigns)

3.
Arson investigations

Operational objective

To investigate all suspicious fires and determine whether they were caused by arson.

Inputs
Number of personnel

Total employee-hours worked

Total expenditures

Outputs
Number of investigations

Outcomes
Number (and percentage) of investigations in which conclusions are reached (and are supportable as judged by independent sources)

4.
Fire suppression

Operational objectives
To respond to 90 percent of fires within five minutes of a call or alarm.

To bring under control all fires in each category of severity (e.g., one alarm, two alarm, etc) within an average time of X minutes (where X depends on category).

To limit the extent of fire damage to an average of X percent of square feet upon arrival (where X depends on category of severity).

Inputs
Number of personnel

Total employee-hours worked

Total expenditures

Outputs
Number of fire calls answered

Outcomes
Response time

Average time to control fires

Percentage of fires spread limited to X percent (where X depends on category of severity)
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1.
Tuition revenues. Generally they would be an input in that they provide the financial resources required to carry out university programs. They could also be an output if an objective of the university were to increase “demand” for its “product”, as measured by revenue.

2.
Number of students enrolled. It could be an output as it indicates the quantity of service being provided. It could also be an outcome if the objective were to increase student enrollment.

3.
Number and percentage of students passing the CPA exam. It would generally be an outcome as it indicates the quantity and proportion of students served who, upon graduation, met certain standards of knowledge and skill.

4.
Number of articles published by faculty in specified “top tier” journals. It would generally be an outcome as it measures the results of research efforts. However, if one sees the mission of the university as mainly educating students, it could also be considered an output.

5.
Scholastic Aptitude Test scores. It could be either an outcome or an input  associated with the goal of enhancing the reputation of the university. High SAT scores indicate that the university is attracting bright students — a  traditional measure of academic prestige (taken into account in the popular university rankings). However, high SAT scores are also an input for (a means of) attracting recruiters, financial support, good faculty and other high-scoring students to the university.

6.
Graduate Record Exam scores. They could be considered a measure of the success of the university’s accomplishments in educating undergraduates, and hence an outcome. However, GRE scores are highly correlated with SAT scores and are probably more influenced by the academic potential of students entering the university — an input — than by what the university does to them while they are there.

7.
Revenues generated by football program. These could be an input in they enable the university to attract better players by increasing scholarships, hiring better coaches and improving facilities. They could also be the result of a winning team and successful program — and hence an outcome.
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The decision package that follows should be interpreted as only one possibility among many.

Activity:  Vision for Kids

Activity objective:  To assure that, insofar as resources will permit, children from low-income families receive adequate vision care. This includes, as needed, eye glasses and medical treatment.

Activity description:  Vision for Kids provides each child referred to its clinic with an eye examination and, as needed issues him or her glasses. In addition, when either the referring party or the attending optometrists suspects eye disease, the child is seen by an on-site ophthalmologist. The ophthalmologist examines the child and provides appropriate medical treatment.

Current budget:

Director
$   150,000


Ophthalmologist (one full-time)
  280,000


Optometrists (2 @ 140,000)
  280,000


Secretaries (2 @ $60,000)
   120,000


Technician
  70,000


Nurses (2 @ $80,000)
   160,000


Glasses (6,200 @ $120)
  744,000


Drugs and other supplies
  30,000


Other operating costs
    50,000


$1,884,000

Current output measures:  The clinic serves 6,200 children.

Estimated outcomes:  6,200 pairs of glasses are issued; approximately 1,300 children are examined by an ophthalmologist and given appropriate treatment.

Estimated average cost of caring for a child is $304 ($1,884,000/6,200).

Level 1 request (90 percent of current level) — reduction of approximately $188,400.
Amount requested:  $1,695,552
The reduction could be effected by reducing one of the nurses from full to 3/4 time, thereby saving $20,000.

The variable cost per patient is $128. Hence a reduction of the remaining $168,400 could be effected by reducing the number of patients served by 1,316 from 6,200 to 4,884:


Variable cost savings (1,316 @ $128)
$168,448

Savings by reducing a nurse to a 3/4 time position
    20,000

   Total savings
$188,448
Cost per each of the 4,884 children served would be $347 ($1,695,552/4,884).

Alternatively, savings of $219,200 could be effected by reducing one of the nurses to half-time (a savings of $40,000) and reducing the number of patients by 1,400 to 4,800, the maximum capacity with 1 1/2 nurses.


Variable cost savings (1,400 @ $128)
$179,200

Savings by reducing a nurse to a 1/2 time position
    40,000

   Total savings
$219,200
The budget request would therefore be for $1,664,800. The small additional reduction of 84 children (1,400 versus 1,316) would result in a major additional saving ($219,200 versus $188,448).

It should be noted that irrespective of alternative selected the relatively small (approximately 10 to 11 percent) cost savings would result in a relatively large (at least 22 percent) reduction in children served.

Level 2 request — current level
Amount requested:
$1,884,000
Additional amount this level:
$   188,448
See current budget above.

Level 3 request — 105 percent of current level
Amount requested:
$1,978,200
Additional amount this level:
$     94,200
The clinic cannot currently increase the number of patients served without hiring an additional part-time ophthalmologist at a cost of $60,000. Even if one were hired, however, the clinic could serve only an additional 200 children before having to add a half-time optometrist and a quarter-time nurse. Accordingly, the full 5 percent increase in funding would be used to acquire additional equipment. This would significantly improve the quality of patient care.

Cost for each of the 6,200 children served would be $319 ($1,978,200/6,200).

Level 4 request — 120 percent of current level
Amount requested:
$2,246,200
Additional amount this level:
$   268,000

Add an additional 1/2 time optometrist for $60,000, a 1/4 time ophthalmologist for $60,000 and a 1/4 nurse for $20,000 — a total of $140,000. This would increase capacity to 7,200 — an additional 1,000 patients (the constraint now being the 2 1/4 nurses, who can handle 3,200 patients each). The additional 1,000 patients would add an additional $128,000 in variable costs (1,000 @ $128) bringing the total additional costs to $268,000:


Optometrist (1/2 time)
$  60,000


Ophthalmologist (1/4 time)
    60,000


Nurse (1/4 time)
    20,000


Variable costs (1,000 @ $64)
  128,000

  Total additional costs
$268,000
Cost for each of the 7,200 children served would be $312 ($2,246,200/7,200).

Although this amount is $7 greater than at the current level, the addition of the optometrist and ophthalmologist would allow for further expansion, at relatively little cost, in the future. In addition, as a consequence of the extra equipment (previous level) quality of care would be improved.

Alternative means of accomplishing this activity:
Contract with private optometrists and ophthalmologists. We have determined that overall cost would be greater, and that there would be less of a chance that children would keep their appointments (since most optometrists and ophthalmologists are located in neighborhoods other than that served by the clinic).

Consequences of not performing this activity:
Many of the children served would likely go without glasses and adequate medical care for eye diseases. Without the glasses there is a high probability that they would be unsuccessful in school. Without the medical treatment, many would suffer permanent eye damage.
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a.
The criteria are flawed in that they fail both to measure the changes that take place in student abilities over time and to take into account the numerous factors beyond the control of the school that affect student learning.


Schools have no control over the students assigned to them. Inasmuch as assignments are based on neighborhoods, schools in wealthier neighborhoods will probably be assigned students who upon entering kindergarten are more academically advanced than those in low-income areas. The students from wealthier families are more likely to have attended pre-schools, have been exposed to books and have had access to computers. Moreover, during their school-years they will almost certainly enjoy similar advantages.


The inputs of the Education Agency include “total numbers of economically disadvantaged students” and “total number of limited English proficiency students.” These are, at best, extremely crude indicators of the demographic factors that affect student performance.

b.
At the very least, school performance should be based on changes in test scores from the time students enter school until when they leave it. Ideally, these changes should be adjusted to take into account the factors beyond the control of the school that affect performance. However, these factors are difficult to identify, let alone measure. Therefore, it is probably best that the agency either compare schools only with others having similar student populations or avoid comparisons altogether — focusing instead on changes in performance within each school from one year to the next.
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1.
a.
The object classification budget disaggregates all expenditures by school and grade. Hence budget officials could allocate the resources for the new first grade classes to the appropriate schools and grades. They could then break-down the additional resources into the various object-classification expenditure line items, such as salaries, supplies, etc.



By contrast, the program-type budget is not broken down by school or grade. Resource allocations must be made to programs and activities and thereby cannot be targeted specifically to additional classes.


b.
Neither of the two budget formats would likely facilitate the redistribution of time from one subject to another. Under the program format, the decision to increase the hours spent on reading would result in a greater allocation of resources to reading from other subjects. But in reality the directive has no substantive financial impact since the same teachers are responsible for reading as for the other subjects. Assuming that no new teachers will be added to the staff, the directive affects only the way teachers divide their time, not the amount of salary they receive. Of course, it is possible that the change in the budget allocation would be a signal to teachers that they should reallocate their time among the various subjects. If so, then it would have the desired effect.



Similarly, under the object classification format, no changes would be made to the budget. The allocations by school, grade and expenditure line-item would remain the same.


c.
The district’s new budget may be organized along program  lines, but the organization itself is not. The spending units are schools and grades, not programs. Teachers, for example, are hired to teach in a specific school and grade, not to teach reading, mathematics, or science. Hence, resources cannot effectively be allocated by program.

2.
If the district’s high school is organized along subject lines, then it would definitely be more fitting to format the budget according to subjects (that is, programs that are tied to subjects) than in the elementary schools. The program structure would be congruent with the organizational structure. In theory, an organization’s program structure need not be congruent with its departmental structure. However, as suggested by part a, allocations may have to be made to organizational units and cannot readily be divided among programs.
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1.
Benefit-cost ratio based on savings from reduced patrols



 System A
 System B
Initial investment (cost)
$4,000,000
$6,000,000
Annual cash savings
     150,000
     260,000

Present value of an annuity of $1 
for 5 years discounted at 10%
x   3.79079
x   3.79079
Present value of cash savings (i.e., benefits)
$   568,618
$   985,605
Ratio of benefits to initial investment
         .1422
         .1643

System B would have the greater ratio of benefits to costs. However, inasmuch as the ratio is far less than 1 (the costs exceed the benefits), it (as well as System A) should be rejected.

2.
Cost per crime deterred



 System A
 System B
Initial investment (cost)
$4,000,000
$6,000,000

Less: present value of cash  savings (per above)
     568,618
     985,605
Net cost
$3,431,382
$5,014,395

Benefits (number of violent crimes deterred)
÷            40
÷            50
Cost per violent crime deterred
$     85,785
$   100,288

System A costs the least in relation to benefits.

3.
Costs in relation to savings from violent crimes deterred



  System A
  System B
Initial investment
$4,000,000
$6,000,000
Present value of cash savings 
from police patrols (per above)
$   568,618
$   985,605

Plus additional savings from crimes deterred:

      Number of violent crimes deterred
÷            40
÷            50
      Savings per crime deterred
$     90,000
$     90,000
      Total savings per crime deterred
  3,600,000
  4,500,000
Total savings
$4,168,618
$5,485,605

Costs (initial investment) per 
      dollar of total savings
         $0.96
         $1.09

System A costs the least in relation to benefits and inasmuch as the benefits exceed the costs, it should be acquired. System B costs more than the benefits and therefore should be rejected.
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1.
Convention center alone


Anticipated revenues

$  3,500,000


Anticipated costs

    1,600,000

Annual net cash flow

    1,900,000


Present value of an annuity of $1,


   6%, 20 years

x 11.469921

Present value of net annual cash flows
$21,792,850

Inasmuch as the net present value of the cash flows exceeds the initial investment of $20,000,000 the city should construct the center.

2.
Convention center and related revenues and costs

Annual cash flow (per above)

$  1,900,000

Additional annual revenues from:

   Sales taxes
$150,000

   Hotel occupancy taxes
  200,000
       350,000


    2,250,000

Additional annual costs for:

   Police, fire, etc.
$250,000

   Utility maintenance
    50,000
       300,000
      Net annual cash flows

    1,950,000

Present value of an annuity of $1, 6%, 20 years

x 11.469921
Present value of net annual cash flows

$22,366,346

The initial investment is now the cost of the convention center ($20,000,000) plus the cost of the utilities ($1,700,000) — a total of $21,700,000. The present value of the net annual cash flows exceeds the initial investment; hence the city should still construct the center.

3.
Impact on funds

a.
Convention center (enterprise) fund

Revenues
$3,500,000

Expenses
  1,600,000
   Net increase in fund balance
$1,900,000
b.
General fund

Revenues (sales taxes)
$  150,000

Expenditures
    250,000
   Net decrease in fund balance
$ (100,000)

c.
Hotel occupancy tax (special revenue) fund

Revenues
$  200,000

Expenditures
               0
   Net increase in fund balance
$  200,000
d.
Utility (enterprise) fund

Revenues
$            0

Expenses
     50,000
   Net decrease in fund balance
$  (50,000)
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1.
Present value of annual net benefits

Present value of anticipated medical costs [Present 
value of an annuity of $300,000 for 2 years, discounted 
at 10 percent (Present value of $1 = $1.73554)]
$     520,662

Present value of lost wages [Present value of an 
annuity of $28,000 for 10 years, discounted at 10 percent 
(Present value of $1 = $6.14457)]
       172,048
Total annual “cost” of disease per patient
$     692,710

Number of patients affected
x                6
Total benefits (savings from preventing the disease)
$  4,156,260

Less: annual operating costs
       400,000
   Annual net benefits
$  3,756,260
2.
Net benefits over the 4-year life of the equipment

Present value of annual net benefits [Present value of 
an annuity of $3,756,260 for 4 years at 10 percent 
(Present value of $1 = $3.1698654)]
$11,906,839


Since this amount exceeds the $8.2 million cost of the equipment, the project should be undertaken.


This analysis assumes that the value of a life can be expressed solely in economic terms — a dubious ethical and moral judgment. Moreover, it takes into account only anticipated future earnings — one aspect of the economic value of a life. It neglects the related costs of a life — food, shelter, etc. Further, the estimates of future earnings are likely to be unreliable at best.

3.
Comparison of options — purchase equipment or carry out tests by examination and lab tests.


The benefits of the testing program are the same under each option; hence they need not be taken in account. Only the costs of the alternatives need be considered.

Purchase equipment
Present value of annual operating costs [Present value of an 
annuity of $400,000 for four years, discounted at 10 percent 
(Present value of $1 = $3.1698654)]
$1,267,946

Cost of equipment
  8,200,000
Present value of equipment option
$9,467,946
Conduct examinations coupled with lab tests
Present value of annual operating costs [Present value of an 
annuity of $3,000,000 for four years, discounted at 10 percent
(Present value of $1 = $3.1698654)]
$9,509,596

The present value of the cost of the equipment is less than that of the examinations and lab tests. It should be acquired.


This analysis, although it is based on estimates of future costs (as well as the specification of a discount rate) does not require the type of “value judgments” required of the previous analysis.
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1.
The stated objective appears consistent with the center’s overall mission. It is deficient, however, in that it provides little basis for performance evaluation — at least in the short-term. The success of the center cannot be assessed until several years after offenders have left the center.


The measures of performance are more in the nature of output than outcome indicators. They measure workload rather than results. An obvious aim of the vocational training, for example, is to assure that campers find jobs for which they were trained. The relevant indicator, however, measures campers completing the program, not the number actually placed in jobs that require skills developed through training.

2.
To give the appearance of enhanced performance as represented by the stated outcome measures employees could:

· Allow more campers to complete the program, irrespective of whether they violate rules or make progress in their activities;

· Offer vocational courses that are cheap and easy to administer, irrespective of whether the training is likely to lead to employment; and

· Be more concerned with the quantity, rather than the quality, of psychological counseling.

3.
The measure “percentage of campers that did not commit a crime within five years,” appears more consistent with the mission of the center than those which the center is currently using. The disadvantage is, however, that performance in a particular year cannot be measured until five years later — a period far too long to wait for corrective actions to be taken.
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1.
Factors that would affect the performance of a sanitation department relative to that of another department would include the following:

· economic and other demographic characteristics of the population (percentage of streets rated clean);

· average number of houses per block (cost per ton of solid waste collected; cost per customer served);

· types and ages of sanitation vehicles (cost per ton of solid waste collected; cost per customer served; percentage of scheduled collections missed and not completed on schedule);

· terrain (cost per ton of solid waste collected; cost per customer served);

· frequency of collection (cost per ton of solid waste collected; cost per customer served);

· average wages of employees (cost per ton of solid waste collected; cost per customer served);

· the survey instruments used to measure customer satisfaction (average customer satisfaction rating);

· education levels of population (number of customer complaints);

· policies as to where containers must be placed (cost per ton of solid waste collected; cost per customer served);

· types of containers used by customers (cost per ton of solid waste collected; cost per customer served);

· distances to city dump (cost per ton of solid waste collected; cost per customer served); and

· percentages of residential versus commercial customers (percentage of streets rated acceptably clean; number of customer complaints; cost per ton of solid waste collected; cost per customer served).

2.
Factors that would affect the performance of a city from one year to the next:

· weather;

· increase in age of vehicles and equipment;

· increase in wages; and

· increase in prices of gasoline and other goods and services.
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